

Annual Report Train leaders. Serve community. Change lives.



www.jlchicago.org

Junior League of Chicago 1447 North Astor Street Chicago, Illinois 60610



Our Mission

The Junior League of Chicago, Inc. is a metropolitan organization of women committed to promoting voluntarism, developing the potential of women and improving the community through effective action and leadership of trained volunteers. The Junior League of Chicago, Inc. reaches out to women of all races, religions and national origins who demonstrate an interest in and commitment to voluntarism.

Association of Junior Leagues International, Inc. (AJLI)

AJLI Mission

The Association of Junior Leagues International Inc., is an organization of women, committed to promoting voluntarism, developing the potential of women, and improving communities through effective action and leadership of trained volunteers. Its purpose is exclusively educational and charitable.

Annual Report Team

Kristal Remstad Amanda Roberts Jennifer Waryjas

Dear Members and Friends



he close of our fiscal year, May 31, 2013, coincided with the concluding celebrations of the Junior League of Chicago (JLC) Centennial. Over a period of two years we embarked

on an array of carefully chosen activities to support our Centennial key objectives: celebrate our impact in the community; increase the visibility of the JLC; engage our members and former members; and secure our financial future. Our Centennial Gala, held in June 2012, advanced each of these objectives in exceptional ways. Net revenue from the event, which exceeded \$250,000, launched our Centennial Campaign. An additional \$100,000 contributed by members and friends to the 2012-2013 Annual Fund further advanced our mission.

We also organized nearly 30 Centennial Days of Service projects with community partner agencies past, present and future. In February 2013, we announced that our capstone Centennial community project would be to work with the nonprofit organization KaBOOM! to build a playground in Chicago. The project – and the selection of the Chicago Preschool Academy in Chicago's Chatham neighborhood as our community partner for this venture – truly exemplifies our focus on healthy lifestyles and our longstanding advocacy commitment to early childhood development. All of our community projects inspire the imagination, and remind us why it is that we dedicate ourselves to the JLC.

Among the many dedicated members of the JLC are the leaders who served on our 2012-2013 Board of Directors and Management Committee. The generous contribution of time and expertise from these women proved invaluable, as did the exemplary leadership of Executive Vice President Jennifer King. I am deeply grateful to all of the leaders, members and friends who make up the Junior League of Chicago. Because of your passion and commitment, we are able to live our mission every day. Together, in our second century of service, we will continue to distinguish ourselves as we train leaders, serve community and change lives.

All the best.

Stichelle

Michelle Miller Burns, President, 2012-2014

Financial Statements

Letter from the Treasurer

he 2012 – 2013 year was inspirational for the Junior League of Chicago, as we reinforced the core values of our mission that have sustained us for over 100 years. Our members continued to impact the community by changing the lives of those they support. In total, the JLC deployed over \$250,000 to its community projects, which has allowed us to continue improving and expanding our programming. This included the Centennial Days of Service events, which culminated with the KaBOOM! Playground Build through a partnership with the Chicago Preschool Academy. This playground will serve the community for years to come, as JLC members prepare for future events at the site to

mentor, educate and inspire Chicago's youth. It remains important to train our leaders so they can be prepared with the tools to serve others in the community, and the JLC allocated over \$115,000 last year to education and training opportunities. As we closed the 2012 - 2013 fiscal year, the JLC remained strong financially, holding \$2.05 million in assets. Thank you for your continued support of our organization. You have allowed us to train our leaders, which has helped to change the lives of all whom they encounter through their efforts in the community.

-Ruth Uress, 2012 - 2013 Treasurer

Condensed Statement of Financial PositionMay 31, 2013

Current Assets:	
Cash and cash equivalents	\$1,221,903
Accounts receivable	\$792
Pledges receivable	
Inventories	\$50,573
Prepaid expenses and deferred charges	\$21,004
Total current assets	\$1,294,272
Investments	\$599,468
Property and equipment (net)	\$156,078
Total Assets	\$2,049,818
Liabilities and Net Assets	
Current Liabilities:	
Accounts payable and accrued liabilities	\$20,963
Deferred dues income - members	\$218,468
Deferred gala income	-
Total Liabilities	\$239,43
Net Assets:	
Unrestricted	
Board Designated	
Operating Reserve	\$400,000
Community Project Development Fund	\$609,766
Headquarters Capital Fund	\$99,823
Undesignated	\$680,79
Temporarily Restricted	-
Permanently Restricted	\$20,000
Total Net Assets	\$1,810,38
Total Liabilities and Net Assets	\$2,049,818

differences due to rounding

Condensed Statement of Activities and Changes in Net Assets

Fiscal Year Ended May 31, 2013

Fiscal Year Ended May 31, 2013	
Revenue	
Dues	\$322,491
Provisional course and other fees	\$18,317
Special events: Centennial Gala Other	\$395,547 \$220,883
Cookbook sales	\$8,725
Contributions	\$108,321
Miscellaneous	\$10,055
Interest and dividends	\$14,340
Realized and unrealized gain (loss) on investments	\$39,212
Released from restriction	_
Total Revenue	\$1,137,891
Expenses	
Program services: Community programs Education and training	\$257,328 \$115,074
Supporting services: General and administrative Fundraising	\$297,233 \$225,707
Total Expenses	\$925,342
Changes in net assets	\$212,549
Net Assets, Beginning of Year	\$1,597,838
Allocation of Board designated funds	_
Net Assets, End of Year	\$1,810,387

differences due to rounding

Hours to Dollars. How our time measures up!

Training & Service

One hour of volunteer work was valued at \$24.08 in the state of Illinois in 2013.

Council	Committee	Hours Per Year Per Individual	No. of Committee Members	Total Hours Per Year	Value of Volunteer Hours
Development	A Family Affair	18	9	162	\$3,900.96
Development	Annual Fund	30	6	180	\$4,334.40
Development	Beverage	90	3	270	\$6,501.60
Development	Book Author Series	60	12	720	\$17,337.60
Development	Cookbook	165	9	1485	\$35,758.80
Development	Gazebo Holliday Market	66	23	1518	\$36,553.44
Development	Special Event	90	17	1530	\$36,842.40
Development	Summer Soiree	50	20	1000	\$24,080.00
Development	Windy City Nights	120	25	3000	\$72,240.00
Education & Training	Event & Meeting Planning	18	8	144	\$3,467.52
Education & Training	JLCU	24	20	480	\$11,558.40
Marketing	Marketing Communications	90	9	810	\$19,504.80
Marketing	Media Relations	276	11	3036	\$73,106.88
Marketing	Topics	84	8	672	\$16,181.76
Membership	Membership Responsibilities	30	6	180	\$4,334.40
Membership	Membership Satisfaction	60	11	660	\$15,892.80
Membership	Prospective Member	66	19	1254	\$30,196.32
Membership	Placement	48	2	96	\$2,311.68
Membership	Transfer Committee	48	17	816	\$19,649.28
Standing Committee	Facilities	120	3	360	\$8,668.80
Standing Committee	Diversity Steering	42	15	630	\$15,170.40
Total				19,003	\$457,592.24

The JLC events help support community projects, with 100% of every dollar contributed supporting the mission of the Junior League.



Hours to Dollars. How our time measures up!

Community & Advocacy

One hour of volunteer work was valued at \$24.08 in the state of Illinois in 2013.

Council	Committee	Hours Per Year Per Individual	No. of Committee Members	Total Hours Per Year	Value of Volunteer Hours
Advocacy	Advocacy	60	23	1380	\$33,230.40
Advocacy	External Advocacy	60	6	360	\$8,668.80
Community	Centennial Days of Service	108	29	3132	\$75,418.56
Community	Connecting Kids to the Arts	42	29	1218	\$29,329.44
Community	Done In A Day	60	42	2520	\$60,681.60
Community	Health Train	48	26	1248	\$30,051.84
Community	Health STARRS	66	34	2244	\$54,035.52
Community	Homework Heroes	36	27	972	\$23,405.76
Community	Kids in the Kitchen	90	36	3240	\$78,019.20
Community	Mad Hatters	50	27	1350	\$32,508.00
Community	Project CON:CERN	42	11	462	\$11,124.96
Community	Project Development	78	20	1560	\$37,564.80
Community	Teen Exodus	60	24	1440	\$34,675.20
Community	Women's Treatment Center	30	24	720	\$17,337.60
Community	Women to Women: North Suburban	48	9	432	\$10,402.56
Total				22,278	\$536,454.24

^{*}Total hours are not exact but the product of the average number of attendees multiplied by the average number of hours worked.



2012-2013 Leadership



Back Row (left to right): Michelle Miller Burns, Ruth Uress, Catherine Pesek Bird, Julie Lissner, Jennifer King. Front Row (left to right): Adrienne Chan, Laura Beth Wolfe, Mercedes Vega, Elizabeth Vastine, April Brooks, Kim Belton

Board of Directors Officers

President

Michelle Miller Burns

Executive Vice President

Jennifer King

Directors

Advisory Council Liaison Mercedes Vega

Current Issues Director

Kim Belton

Adrienne Chan

Magen Hanrahan Doughtie Susan Santoro

Diversification Director

April Brooks

External Advocacy Director

Catherine Pesek Bird

Recording SecretaryJulie Lissner

Treasurer

Ruth Uress

Fundraising Director Elizabeth Vastine

Board Member-at-Large Jessica Ebersberger

Strategic Planning Director
Jill Hutchison

Parliamentarian Laura Beth Wolfe

Management Committee

Executive Vice President Jennifer King

Recording Secretary
Julie Lissner

Advocacy Co-Vice Presidents Ashley Kain, Sara Kornaus

Budget Vice President Christina Weber

Community Co-Vice Presidents Kristin Healey, Chrissie Russell

Development Co-Vice Presidents

Beth Bentley, Anne Forman

Education & Training Co-Vice Presidents

Alexis Morris, Kate Walania

External Advocacy Director-Elect

Katie Anthony

Marketing Co-Vice Presidents Halie Bojovic, Hillary Deck

Membership Co-Vice Presidents

Katherine Klement, Kathryn Mischka

Nominating Chair Kelly McClure

Parliamentarian Laura Beth Wolfe

Personnel Vice Presidents Kasey Folk

Strategic Planning Chair-Elect Kathryn Gillman

Sustainer Co-Vice Presidents Anne Lipford, Julianna Mann

Award Winners

Founders Award Elizabeth Vastine

Outstanding Service Award Anne Lipford, Julianna Mann

Community Spirit Award Fran Pukala

Outstanding Associate Award Kathleen Page **Outstanding Sustainer Award** Anna Musci

Torch Award Andrea Maturo

Team Award

Centennial Gala Committee Nominating Committee Operations Director Search Committee



Kristen Ong
Associate, Project CON:CERN committee

How has the Junior League helped you to serve your community?

As a member of the Project CON:CERN committee, I feel empowered by the commitment the committee has made in the spirit of "serving community." The Junior League of Chicago has provided me a platform where I can make a positive difference in the local community by collaborating with my fellow Junior League members. Project CON:CERN provides the opportunity to work closely with non-profit organizations in the local community that have identified a need for consulting services and expertise. Providing women the opportunity to collaborate and use the skills gained from their careers to directly impact organizations in the community in a positive way truly showcases Junior League's commitment to serving the community.

2012-2013 Corporate Sponsorship & Matching Gifts

The Junior League of Chicago would like to thank the individuals and corporations who contributed to our 2012-2013 fundraising efforts.

Corporate Sponsorship

The Connelly Family Foundation

East Bank Club

Foster Family Foundation

Grant Thornton LLP

Harbor Lights Foundation

Image Pilots/ City Markets

JPMorgan ChaSE

Kluth Family Foundation

LinkedIn

Make It Better

Millward Brown Inc.

NiSource Charitable Foundation

Price Waterhouse Coopers LLP

River City Foundation

Shea Family Foundation

Wells Fargo

Wm. Wrigley Jr. Company Foundation

Matching Gifts

Abbott Laboratories

Accenture

Aon

Arch Insurance Group, Inc.

Aurora investment Management LLC

Bank of America

Charles Nelson Rease Charitable Foundation

Clerestory Consulting

Deloitte & Touche

Deloitte Consulting LLP

Deloitte LLP

Discover Financial Services

GE Foundation

Goldman Sachs

Grant Thornton LLP

Huron Consulting

JPMorgan Chase

Leo Burnett U.S.A

LinkedIn

Maple Leaf Foods

Millward Brown Inc.

Noonmark Foundation

Northern Trust bank

Oracle Corporation

Price WaterhouseCoopers LLP

Schwab Charitable Fund

SR

UBS Financial Services

Walt Disney Employee Matching Gifts

Zeno

Kristal Remstad
Active, Marketing Committee

How does the Junior League change lives?

Having been a member of the Junior League for nearly three years, I've seen firsthand how the Junior League not only changes the lives of the people within the communities it serves, but also the lives of it's members. Last year I organized an event which had various active members talk about how to "get the most of the league" to new associates. Listening to these members passionately discuss how much the Junior League has enriched their lives through new friendships, leadership skills gained through placements, and the overall sense of community the league has provided them made me realize what a powerful organization the Junior League is.



2012-2013 Annual Fund Donors

\$2500+

Michelle Miller Burns Michelle Kerr

\$1000+

Gwen Allen

Shannon Castle Heard

Bridget Dalton

Robert Dolan

Kathryn Gillman

Elizabeth Hurley

Laura Metzger

Ruth Nelson

Nancy Snyder

Elizabeth Vastine

\$500+

Kim Belton

Jean Berghoff

Adrienne Chan

Rachel Davis Mersey

Amy Dickinson

Angela Euston

Elizabeth Foster

Jennifer Garr

Shannon Castle Heard

Megan Hodes

Caroline Huebner

Jill Hutchison

Ann Lipford

Angela Liu

Anna Musci

Ann Nerad

Caro Parsons

Barb Peters

Kathleen Price

Beth Reissenweber

Molly Riley

Erika VanDam

Tracy Whitehead

Elizabeth Wright

\$250+

Rachel Allport

Monet Ball

Patty Bandolik

Elizabeth Breunsbach

Janet Buckstein

Elyse Butler

Anna Curnes

Michelle Day

Kasey Folk

Patricia Fors

Ashlev Galston

Jennifer Gordon

Magen Hanrahan Doughtie

Lorill Havnes

Susanna Hiboldt

Krista Hubbard

Eileen Hubert

April Kennedy

Ann Kibler

Jennifer King

Elizabeth Larson

Margery Livingston

Elisabeth Logman

Ann Loque

Sanders Lowery

Ellen McCarthy

Ann McDermott

Julie Pfeiffer

Chrissie Russell

Maryellen Schwartz Judith Shaw

Patricia Siegel

Mary Smart

Mercedes Vega

Regina Wootton

\$100+

Cynthia Alcantara

Olga Allen

Monica Brooke Anderson

Pamela Andrews

Katie Anthony

Melissa Antoszewski

Mary Ayers

Lucy Barnard

Courtney Barr

Marilyn Bartter

Nicole Baudouin

Sharon Bauer

Malia Beal

Mitzi Beebe

Helen Bentley

Lauren Bertschy

Alexis Bettis

Victoria Bishop

Kathryn Blodgett

Stacy Bogard

Casey Boll

Sarah Bornstein Mary Boyer

Lynn Brens

Elizabeth Breunsbach

Shannon Breymaier

Camille Britton

Stacy Brown

Lauren Buford

Alexandra Bullington

Malissa Burling

Ken and Polly Burns

Timnetra Burruss

Ann Brinkman Carstensen

Amanda Centers

Jill Ciminillo

Jana Clear

Ann Marie Colletti

Stephanie Conn

Brittney Conway

Alexandra Cooney

Lynd Corley Alissa Coronna

Christine Crum



Brittney Conway
Active, Chair, JLCU

How do you contribute towards the Junior League's Mission of training leaders?

In my past five years of being a member of the JLCU committee, I've grown our premier leadership training event, the Core Curriculum Conference, which is held in both the fall and spring terms. It's exciting to see headquarters filled with women on a Saturday morning taking advantage of sessions like Goal Setting, Volunteering in Diverse Communities, Development and Leadership. The Core Curriculum Conference has had an overwhelmingly positive response, and we plan to continue to develop a robust offering to equip our members with the tools they need to be better leaders and make a bigger impact in our community.

2012-2013 Annual Fund Donors continued

Christina Curschman Suzanne D'Agostino **Emily Darragh** Mary Whitney Dawson Alexandra Demers Paige Donnelley Ashley Dorsch Jessica Doty Julie Drewniak Jessica Ebersberger Lauren Edmonds Chervl Evert Ashley F. Foster Mary Ferguson Lyn Filbey

Ruth Fiorentino Uress Helen Flanagan Michelle Flip Anne Forman Carolyn Kidd Carrie Kiley Taylor Kitz Rachel Klag Katherine Klement Gina Ross Kohnke Sara Kornaus Stephanie Krebs

Margaret LaMantia Caroline Lavery Stephanie Leone Mary Lesch Marta Licausi Lisa Liegl Megan Liehs Mary Ann Lillie Erica Lindner Melissa Lindsay Stephanie Lippian Julie Lissner

Lauren M. Jacob Levine Jennifer M. Martin

Ashley Maciorowski

Elisabeth Logman

Kristin Lonergan

Julia Longstreet

Vanessa Mackey LaQuita Malone Meghan Mangan Julianna Mann Deborah Marcusson Ann Marinovich Megan Marler Sara maters Millie Mathias Michelle Mathiesen Kelly McClure Betsy McCormick Morgan McGrady Amy McJoynt Amanda McQueen Marie Meisenbach Graul

Emily Merritt Kristina Meszaros Lindsay Migely Megan Mitchell Jessica Monnet Frin Morrison Andria Mullins Holly Noonan Carol Novak

Meghan O'Malley Miller

Susie Olson Kathleen Overholt Janet Owen Kathleen Page Reed Pankey Christina Panoff Linda Pappas Hanna Parker Priyanka Patel Susan Patten Catherine Pesek Bird Kristina Pierece Rene Pierce Carrie Pinkam Victoria Pompizzi Diane Powers Frances Pukala

Lauren Webster Regole

Dana Regan

Elizabeth Richter Jacqueline Ritter Casey Rivard Alisa Rosales Laura Roth Chrissie Russell Susan Santoro Jamie Schneider Carol Schulz Melissa Schumacher

Catherine Schwartz **Brittany Scott** Sherry Sharrard Judith Shaw Dream Shaw Patricia Siegel Melissa Siemasz Nan Skoglund Sharon Sparks Sabrina Stroud Shea Sullivan Elizabeth Surgener Amy Sutherland Alessandra Swanson

Erika Sypek Tricia Taylor Virginia Thomas Honour Thornton Lisa Totino Rosemary Tupper Tracy Walter Christina Weber Nancy Whitney Allegra Wiles Karen Williamson Katie Wilson **Taylor Wood** Jane Worthington Sarah Yost Julie Young Julie Zimerle Becky Zurawski

Shannon Breymaier Transfer, Advocacy Council

How does the Junior League impact the community through effective leadership?

As a member of the JLC's Advocacy Council, I've seen the power of effective leadership firsthand. The goal of our committee is to advocate for policy changes to support the Junior Leagues' signature issues: healthy lifestyles and early childhood education. To achieve these goals, we must train members on how to effectively express their opinions to policymakers and teach them how to build and nurture relationships with elected officials and community organizations, all characteristics of effective leaders. The Junior League of Chicago is a highly respected organization, and when our members speak, our representatives listen.



2012-2013 Annual Fund Donors continued

Less than \$100

Alison Alexander
Dora Albregtse
Carolann Allis
Lindsay Anderson
Amanda Andrews
Christa Arite
Sarah Ayers
Keerthy Batavia
Melissa Bauer Smith

Jane Betz
Monica Bieniewski
Brittany Bihun
Victoria Bishop
Amy Bloedorn
Tracy Bodenmann
Pegeen Bodine
Christina Bontempo
Mary Boyle

Carly Bridge

Natalie Broler
Nicole Bulman
Elizabeth Buzard
Amanda Byrne
Jessica Canfora
Kristin Cheeseman
Grace Chu
Claflin Cimarron
Katherine Claeys
Maura Lakowski
Melissa Lambe
Lisa Lebeck
Lindsey Lerner
Abigail Lynn
Caitlyn Manfredi

Kymberly Marrinson

Mary Mason Julie McWilliams

Nikkita Mehta

Lindsay Meier Molly Milliken DeCresce Katheryn Mischka Cibulsky

Alexandra Moore Alexis Morris

Mary Mrowicki

Mary Norton
Karen Nye
Kathleen O'Connor
Dana Oberland

Dana Oberland Sarah Oliver Kristen Ong Cheryl Orr Josephine Pallasch Meghan Payne

Johanna Peterson Anne Peterson Dana Powers Elizabeth Prendergrast

Katherine Quigg
Sara Rhode
Illana Rifkin
Beth Riney
Kelly Royer
Kristi Rubenstein
Katherine Rudersdorf

Alexis Rudie Karen Rugh Constance Saville Allison Scher Mark Scoles Kate Sheridan Nicole Simon Kelly Simpson **Brooke Snelten** Margaret Snorf Megan Sobolevsky **Debra Somers** Anna Soukup Sara Spector Adrianna Stasiuk Jean Steffenson Cynthia Stewart Erin Stone

Kathleen Szot Jessica Tepas Geen Tomko

Lauren Stookal

Sabrina Stroud

Erica Sypek

Karen Trimberger Brady

Alexandra Trimper Barbara Valicenti Noreen Valle Kathleen Walania Jamie Wales Sara Walker Megan Walsh Janet Weber Jane Whitesides

Janet Weber
Jane Whitesides
Elizabeth Whitlow
Pamela Wicker
Laura Beth Wolfe
Carolyn Wuellner
Allison Youngblood
Jessica Zernhel

Nina Ziebarth-Pavlovich



Jessica Ebersberger
Active, Board Member at Large

What event were you involved with where you saw the impact of the Junior League changing lives?

Last year I volunteered for the Bank of America Chicago Marathon through the Junior League. Watching 40,000 participants running was incredibly motivating as a volunteer and as someone who tries to live a healthy lifestyle. I was thrilled to see the enthusiasm and hard work the Aid Station crew put in that day, it was non-stop physical effort. On several occasions JLC volunteers were thanked by Bank of America Marathon employees for being proactive in their work at the station, such as taking the initiative to start cleaning without being told. To me, that small gesture showed how Junior League volunteers take pride in serving their community, and as a result, change lives.

2012-2013 Tribute Gifts

Memorial Gifts

In Memory of Jeanne Andrae

Anne Peterson

In Memory of Dorthy Adams Eschweiler and Gabriele Anna Eschweiler

Caroline Lavery

In Memory of Kathryn Nolden

Sarah Bornstein

Kymberly Marrinson

Ruth Nelson

In Memory of Dr. Joseph P. Musci

Anna Musci

In Memory of Larry Warren Folk

Michelle Miller Burns

Honor Gifts

In Honor of Karen Leese Miller

Stephanie Leese Emrich

In Honor of United Way - Wells Fargo

Nancy Cheney

In Honor of Corry Connelly's Family Foundation

Corry Connely

In Honor of Jennifer King and Michelle Miller Burns

Kathryn Gillman

In Honor of Fundraising Fellows

Elizabeth Vastine

In Honor of Jacquilin Finley

Lorill Haynes

In Honor of Kristen Rupp

Cimarron Claflin

Valerie Gresko

Kaitlyn Kroeger

Ellen Kuhn

Dana Oberland

Mark Scales

In Honor of Julie Mann

Mary Lesch

In Honor of Anna Musci

Elizabeth Vastine

Elizabeth Dolan Wright

In Honor of Elizabeth Vastine

Elizabeth Dolan Wright

In Honor of the Board of Directors

Michelle Miller Burns

Every effort has been made to report all 2012-2013 contributions fully and accurately. We apologize for any errors or omissions and ask donors to forward corrections to the Operations Director of the Junior League of Chicago. Thank you for your understanding and for your generosity to the Junior League of Chicago.

Angie Euston
Active, Mad Hatters Project Co-Chair

How has the Junior League helped you serve your community?

It is a privilege to be part of the MadHatter legacy in the Junior League, our longest running community project. As one of the committee leaders, It is has been an exciting challenge to continually evolve the project to meet the needs of our community partners and Junior League volunteers while providing a fun and creative way to engage children in reading. My passion for early childhood literacy is driven by the fact that if we are able to connect with at least one child in every performance, we could really change the course of their life and future success by helping them develop a love for reading.





Proudly Serving Our Community for More Than 100 Year.

1447 North Astor Street Chicago, IL 60610

(USPS) 805-280

A member of the Association of Junior Leagues International, Inc.

The Junior League of Chicago reaches out to women of all races, religions and national origins who demonstrate an interest in and a commitment to voluntarism.

Join the JLC!

The JLC will be hosting five Prospective Member Information Sessions, starting in September 2014. The RSVP information for those sessions will be posted to the JLC website in July 2014.

Contact us with any questions at prospectivemember@jlchicago.org or jlchq@jlchicago.org.

www.JLChicago.org

Follow us on Twitter @JuniorLeagueChi

Like us on Facebook www.Facebook.com/JLChicago

